3anaua 13. Onpenesienne cepbl
Pemenue

1. a)  ZnCOsy + S* — ZnS( + COs*
SOs% + CH20 + H* — CH,(OH)S035"
2 S,05% + I — S406° + 217

6) S,05%

B) n(S203%) = 2 x 5.20 x 0.01000 = 0.104 mmous (B 20.00 M1 duasTpara)
C(Szng_) =0.104 / 20.00 x 50.00 / 20.00 = 0.0130 moub/1 (B HCXOAHOM
pactBope) = 0.01300x112.13 r/n = 1.46 1/ (1460 ppm)

2. a) 2 S,05% + I > S406% + 217
SO + I, + HyO — SO~ + 2 HY + 21

6) SO+

B) n(l,) ucxoanoe = 20.00 x 0.01000 = 0.2000 Mmmo1b

n(l;) uzoeITounoe = %2 x 6.43 x 0.01000 = 0.0322 Mmmo.1b

n(SOs%) + % n(S,05%") = 0.2000 — 0.03215 = 0.1679 Mmous (B 15.00 M
¢bwuibTpara)

n(SO3*) = 0.1679 — % x 0.1040 / 20.00 x 15.00 = 0.1289 mMmous (B 15.00 M

¢bwuibTpara)

c(SO3%) = 0.1289 / 15.00 x 50.00 / 20.00 = 0.02148 Mob/11 (B HCXOLHOM

pactBope) = 0.02148x80.07 r/n = 1.720 r/n (1720 ppm)

3. a) 2 S,05% + I, — S4067 + 217
SOs% + I, + HyO — SO~ + 2 HY + 21
ST+, >S+21°

6) S¥

B) n(l,) ucxoanoe = 10.00 x 0.05000 = 0.5000 Mmo1B

n(l2) u3opTounoe = %2 x 4.12 x 0.05000 = 0.103 mmob

n(S%) + n(SOs%) + ¥ n(S;05*) = 0.5000 — 0.1030 = 0.3970 mmoub (8B 10.00 M1
HCXOJIHOTO pacTBOpa)

n(S%) = 0.3970 — 10.00 x 0.02148 — 10.00 x % x 0.01300 = 0.1172 mmoub (B
10.00 mut CXOIHOTO pacTBOpa)

¢(S%) = 0.1172/ 10.00 = 0.01172 moxs/nm = 0.01172x32.07 r/n = 0.376 r/n (376

ppm)



	Задача 13. Определение серы

